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A highly advanced water management _system of the Harappan period has
been unearthed at : - :

(11 Lothal (2) Pholavira
{3)  Alamgirpur (4) Kali Bunga ;
WﬁQﬁWﬁWﬁﬁWHWﬂﬁWﬁ@rﬁﬁﬂwaﬁ
o ¥ e g % ¢ "-

1) wigs (2) e

@) PRI (4) @ w0

Which of the following is not asseciated with Jainism ?

¢} Syadvada {2y Anekai_rtavada

(3%  Sarvastivada 4)  FPamchmahavrata

Fpateler & @ aw frgre 9w oW § wabam o
() emEER ' 2y erlaaTe

63y waReR (4) SRR

The mefum of exchanpe duriong the Mauryan period was

(1)  Varaha @) Dinar
@) Pama (4)  Chumni
W wra § ogafma B o e gy

() == @) i
) W o @ k@

Which of the following is net a work of Kalidas ?

{1} Meghduta (2) Kumarsambhava

(3)  Raghuvamsha (4) Kadambari |
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Sravanbelgola is associated with :

(1) Ashoka's Dhamma (2) Nagarjuna
(3) Jainism (4) Buddhism
P ERC U CE
(1) onie ¥ o q (2) WA ¥
@) s o8 @ ¥ o 9
6 The Buddhist Centre that did have direct connection with the Buddha during
his life-time : : '
(1} Sarnchi (2) Sarnath
(3) Uruvela (4) Rajagriha
T L. 2 .
NORE:: (2) WY
) el @) R
7. Which of the following texts was not w;ritten by Harsha ?
(1) WNaganand (2) Ratnavali
(3) Priyadarshika (4) Harshacharit
Pl § @ @ @ ww e @ Ty ?
(1) e | (2) <R
G) fraaiiE @ wieiE
5 Which of the following dynasties do not claim tc; have originated from
mythical 'Agnikula’ ? B
(1) " Chavhans . - (2) Solankis
(3) Chandelas : (4) Parmaras
Prrhaflag § ¢ Pre Tedyr X oo o el Cafge @ @
Sier ¥ 7
(1) e | @) e
(3) & . (4) TER
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g  Which of the following. officers were: not related to the =m-arket-co§t'tq
systamy of Alanddm Khalip 7 , Censs

() Divan-i-Basd . (2) Divan-i-Riyasat

{3} Divan-i-Ajiz (4 -Q-%}é?lﬂ"i-]-ﬂsh_a__;__
(1} W—Q—Eﬁﬁﬁ ) E?{a']:{ -

i . (4) A g

Lt

o Wil of the, Eifowing pair is oot correctly matched ?

{1y Haee-i-Khas - .?v_ijf'r'.;ham.ma@_—bin—ffugi'aq g
2y Jasw Mas}i@; of Badaun - rutmish |

3y City of sm . Alsuddin Khalji 3
4 City of ].-axz;n;pur | - Firozshah Tuglag
it 5 3 W gE g R ¥ 7

@) e & e S

3w R L ok fawe

'i @) oEgE PR fpTrE O
iﬁ e 4p "Din-iDel was a monument of Albars folly and zmet WS wisdo
' " Who made this sitement ? T L . 'g

- {1} Wolseley Haig {1y “vincent Synith

{3) Lamepole (1) Flphinstone
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Jagirdari crisis had developed in the Mughal Empire during the reign of :

12
(1) Jahangir (2) Humayun
(3) Aurangzeb (4) Shah Jahan
o WERg ¥ MRS e SO ger o1 ¢
(1) MR & EhE N (2) T F EHNE H
(3) oftEE & sETew ¥ (4) smESEl ¥ B o
13 In which .year Akbar introduced 'Ain-i-Dahsala’ ?
(1) 1582 AD (2) 1580 AD
(3) 1581 AD 4) 1578 AD
mwmmw-q—asammaﬁm%mw ?
(1) 1582 %. (@ 1580 3.
(3) 1581 %. (4) 1578 3.
14 Who was not a member of 'Ashta Pradhan' ?
(1) Amatya @) Mantri
{3) Sachiva (4) Diwan
Peafaflage ¥ ¥ S-ar ‘o= wu W oW A8 @1 ?
(1) e | @2) W=
@) @ faw
25 "Shivaji' was born in the fort of :
{1) Javali (2) Shivner
(3) Toran - (4) Purandar
B & 9 fow feq o gonm w7
1) W % e ¥ @ AR e A
(3) do F Rpw H (4 TR F fee o
ar_Aj | 5 [Contd...
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6 The first Prasihar ruler who  assumed the title of Parambhattaraka
Maharajadhirai Parmestwar was

Vatsara) {2} Nagabhaita ¥
Milirbhey (4) Mahendrapat I

WE AR wwEw B orrge TR TSR @ sul e
B 4t wE i

(iy
{3
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GRTH (2) -wm™9E 0
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VP Wil of the following »airs g fot correctly matched &
O

BC

T (3 Books

Maiamizr - The Semy Mutiny and the Rs.woi& off 18537

lohn Kay - Hisiory of Indian Mutiny
% M. Sen - Civil Rebelkion i the Indian Mautiny
WD Savarkar - 1857 © The Grem Rebeliion

RS A - T AF gifew @ B e

e

WLHIRFER - B iy P T 7 Aol ke 18y
TIRE - R oo sfeam e
LR e PR 4 e e

4 @ wEmr . jes7 B e Aafr

18 Which of the Blowing s aor correctly matched 92 _
£1y f‘a(c,utm Corpovation Agt . 1869 A D,
{2} ind&um University Act - 19¢0 AD. .

Ancient Monurmen; Act - 1904 AD

Partition of Pe engal - 1905 AD

(3)
4)

o

R B I g9 gl adf & 7
BT BRI UFe . 1899 -4
(2)  sivzow oH=igs gz - 902 §
(3} uafipre A UEE - 1004 3.
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19 Lord Curzon set up a Police Commission in 1902. Who was its Chairman?
(1) Sir Thomas Releigh {2) Gir Thomas Robertson
(3) Sw Volvin Mancrieft 4 Andrew Frazel
wrd e A 1902 % ﬁgﬁﬂﬁarrﬁmmmﬁmm | e e T
g T Al ?
(nmifwaiﬁﬁ (2)mz“‘rqaméwﬁ
(3)mef‘rﬁmﬁnﬁ‘htﬁﬁ (4)@%%31@
20 Who among the following was the commander of the Br;itish army in the
pattle of Wandiwash 7
(1) S Eyre Coote (2) Sir Hectol Munio
(.3) Colonet Baillie 4) Colonel Mathews
arr&mmg@ﬁeﬁfﬁﬁmaﬂﬁqﬁﬁzﬁ‘ﬁm?
() X el @ (2)&1%&2{@
(3) @@ T | (@) @iE A
71 Wit which of the following wafs the convention of Wadgaon s connected?
(1) Third Anglo-Mysore Wart (2) Fust Anglo-Maratha War
{3) Second Anglo-Maratha War (4) First Anglo-Mysore war
ﬁmﬁrﬁﬂﬁﬁﬁmg@%maa@ﬁﬂﬁwﬁwm% ?
(1) Fad e AL 38 (2) W S Al IE
(3) fadra ST IS (4) e - HEY 38
22 The: Btitish Governor G@nefral ~who- established Agricultural Research
institute at Pusa in Bengal” was -
(1) Lord Henry Lawrance (2} Lord Curzon
{3) ford Ripon {4 Lord William Bentinck
ﬁﬂmnﬁwﬁwﬁﬁ%{mﬁﬁaﬂﬁwwﬁw
& A
1y W Gited () @ FAA
) e T (@) @ Tt ATEH
01_Al : T {Contd...
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23 Who was the founder of Sirohi Rajya Praja Mandal ?
(1) Kanhaiya Lal Mittal {2)  Bhupendra Nath Trived;
(3) Gokul Bhai Bhart | (4) Mitha Lal Vyas
RO 7 worvew @1 s @ 2 |
(1) w¥awm R @) T T B
() pw W wg 4)  HWemm =
Which of the following pairs is not correctly ma.tched ‘?
’ Authors Books
(1) Kanhéiya Lal Sethi - Dharati Dhora-Ri
{Z)  Meghraj Mukuy! - Sainant
.\{3) Umardan Lalag - Chhappan-ra-Chhanda
{4) Chandra Singh Birkali - Amal ra Augun
et ¥ & Bm qm Tt w8 3 2
(). FUww ¥ - W di §
(3} TE W S R
@ TRE T@E . amw o aw
3B 'Chaug Khambon ki Chhataré' i5 situated at
(1) Alwar | (2} Bundi
{3}  Karauli (4)  Jaisalmer
R w9y B’ Rug 3 F
(8 rmae o ) T F |
(TR 7 @ A |
OE_Ag 8 : ' [Contd... :
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26 W!lich of the following painters is associated with Mewar .School of
painting ? '
(1)  Ruknuddin _ - (2) Kasim
(3) Sahibdin " (4) Shah Muhammad
frefafes & & F-w fewr e § fae 96 Y weg @ 7
(1) wEwgE | (2) wihm
() wfdEdE (4) 9E gE
27 In which of the followmg:, cities Sawai Jai Smgh dd not set up an
- observatory 7
.(1) Ujjain . (2) Mathura
.(.J Aora {4) Banaras
wéwm%ﬁmﬁrﬁﬁﬁﬁmwﬁémwmﬁmhﬂﬁm ?
(1) swb (2) mga
- (3) amm | 4) TR
28 In which of the following Rajasthani works the account of Alauddin Khalji's
conquest 1s given ? .
- . (1} Kanhadde Prabandha (2) Khuman Raso
(3) Achal Das khichi ri Vachnika (4) Virud Chhihtari
ﬁmﬁrﬁﬁﬁammﬁu‘rﬂqaﬁaﬁﬂf@aﬁra&mﬁﬁmm
P e 8 7
(1) zsm%m (2) AR @
() orewETE W & e (4) fTowe foead
29 Who made the Rajpramukha of Matsva Union ?
(1) -Maharao Bhim Singh .(2) Maharaja Udai Bhan Singh
| (3} Rao Gopal Singh (4} Maharac Babadur Singh
e & ¥ Reg we 9w w0 U E@ S ownoeq
(1) wewE dmiie (2) e SEEwEE
'(3) RERRINIGIETS | (4) e SEgE
01_A} ' 9 [Contd...
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30 Who was the awthor of Prabandhg Chintaman;
(1
(3
(1)
(3)

Uddvatsn Sur {2) Nayachandra Syr
Meru Tung (9 Dalpas Vijay

TIE gD (2) T g

T (4)  zama Ryge

I The sanp Whe was invited o' Fatehpul Sjkr; by Akbar

€1
(3}

FE ¢

(1)

Dads a0y (2) La Das

Fasparh : (4} Raijjabii

TEI e S s o ft g Lo -
THRE e 20T THE gy Ex tﬁﬁéﬂi HIw SRR e RCIAE 1

iJ

T wEm : 2y am oy

32 Which of (he following places was demanded by Hitter

(1

33 How

Danzing - (2)  Memel

Warsan (4)  Riga

shamy (2y T

arE ) Fom-
many couniies Btyht in the First World Wy -

36 4) 37

TR gen ¥ By ven T Rray oy

(1)
{3)

” Iﬂ_d“k I

o

WS oo

from Poland °
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34 "If Rousseau had not been born, revolution in France would have been
tmpossible”. Who said this ?

(D Voltéire : (2) Napoleon Bonaparte

() Louis xyn - @)  Quesnay
“Hﬁ‘:’@ﬁquﬁma}mﬁmwﬁawﬁmw%mm I
qT BT ¥
(1) FRTT % @ A%RRE dEEE @y
() g2 wewd F @) w=w w5

35 Which of the following countries remained neutral during both the World

Wars ?
(1) Holland (2) Spain
(3)  Sweden @) Poland
ﬁa“f%&agaﬁfﬁﬁrﬁrﬁfﬁgaﬁﬁﬁw—m@tﬁtr%wmwm ?
(1) zmvs . (2) W
(3) = ' (4) s

36 Prarthana Samaj was founded by :

(1)  Armaram Pandurang (2) Keshava Chandra Sen
(3) Devendranath T agore (4) Raja Ram Mohan Roy
TR W w s owr |

() omm awser . o) e O

() e g @ T e T

37 The founder of ‘Servants of Indian Society' was :

(1)  Iai Prakash Narayan (2) Mahatma Gandhi
(3)  Gopal Krishna Gokhle (4) Bal Gangadhar Tilak
M Wad Uy’ (mmm@wﬁ)wmm:
(1) STA9sIeT Ty (2) TEwr widy
(3) W@ g e (4) 9 W R
01_A| S [Contd...
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Which of the following pairs

Awidvors

£y

i3
{4y

{2r  Bal Gangadhar Tilak
Dr. Rajendra Prasad

Jaweabhar Lal Nehru

Subhash Chandra Bose

is not correctly matched ?

Books

1

The Indian Struggle
The Arctic Flome of the Vedas

India Wins Freedom

- The Discovery of India

e W ¥ @mew g gl TE §

TTE

A1y

FEwEE 49
g et faas
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Arvainge the followmg Satyagrahas of Mahatma Gaudhi in Chronological

e
ta}
iy

Sebert the

Piowdett Saryagrah

Chogyracan Satyagrah

& and ¢

& ond a

"y
fay IRT 9L JEme
fc)  OOETT TR

B dy ¢

5 3 F a

12

{h)

{d)

(2
)

(b}
(d)

® OWART RO SE g

2)

(4)

Kheda Satyagrah .

Ahmedabad Satyagrah

carrect answer using the codes given below

¢, a. b and d

b, d,

Fregiaien oo enieH w1 G W w37

c and a

W AR

s e wens

¢, a4, b d d

h.

d.

cdoa i




40

Consider the following bartleg -
(@} Battle of Khanwa

(¢) Baitle of Sarangpur

(1) 2, ¢ dand b
(3) < a b and g

Frefofes ey o R it
@ @ e gy

41 Liberty mentioned in the Preamble, do not include the Liberty of

(1) Thought (Z) Belief

(3) . Worship (4} Livelihood

ST ¥ onfm TRI T omf w3

M) RaR & sy @ Ty @ ey L
42 Aclcording to Consn'tution, India is 4 -

(1) Federal State (2)  Union of States r

(3) Confederation of States (4) Commonwealth of States : E’

(1) %sta 1wy S A e e |

G) T Fr umy () T w5 ey [
1 Aj 13 [Contd...

e

(b) Batile of Haldighat;

Battie of Diver

(2) b, a g and ¢

4) d b, ¢ and g

(b) Bﬁﬂmz“raﬂg@ !

(d) &7 @ gz

(2) b, a dge¢

4 d b ey, g




43 Maich the feature of Indian Constituticn and its foreign source :

1
%

A Federal Syste: i Australia

B Vice Presudemnt B - Britain

C  Concurrent List Hl  Canada

P Parliamentary Privileges B tnied States of America

(1Y  A-UIL/ B-L/ C-1V / D-i

2y A-IT/ BAV /) C-1 7 D=l

(3) AL/ B/ CAV /DAl

{(4) AN/ BV C1 7 BB

Ty iaun @ e s owes el wa e gatee i
A gUm gonEr ‘ N e S L

B WU g=eg9m N e

C  wEed L T i |

D uudE Ragrsithr Vo wgE TR S
ty ACIL S B/ OV 7 Dedd

{2y AR/ BV Cap DL

3y A-1/ B-IH/ C-1% 7 D

4y AIH / BV /01 D

The mtermediate level of Fuowhayat Ray Instution in Rajasthan s -

{1} Gram Sabha (Z)  District Planning Cormrainice

(3) Panchayat Samity ()  Zia Panshad

T W s 1* Wil ) HeEdl sl R sg

(1) wH g= (2) Toer s winfs ?%

(3) vEmEw @HY 3y Pl yireg E §
1 51 | 13 I sata . I :
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In Indian Constitution, which Fundamental Right includes Right to

‘Education' ?

(1) Cultural and Educational Rights

(2) Right to l%jeedom of Religicn

(3} Right 10 Freedom

(4)  Right to Equality _

T & sty wwdr dfem § feg 9w WUER ¥ st ¥ ¢
(1) Hepla ud foan w9 arfusr

(2)  @ifMe wdsar & AR

(3) ww@Ia w1 sl

4) "ow @ sfhere

By which Constitutional Amendment, Right 1o Property has been removed
as a Fundamental Right -

{1y o2zh {2y apnd

(3) ath . {4) el

fed dfaur dsman arn wafe & afver @ e afUwR % FTY F g
fem mar ¢ 7

(1 2591 (2y  42af -
(3)  daaf R C I v R

Total number of Fandamental Duties mentioned in the Indian Constitution

15 —
(hy 6 {2y 8
{(3) 10 4y 11

A Wt oAbl g adel W g den ¥ -
6 2y R

(33 10 . (4 11
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48 In which case Supreme Court Propounded the 'Basic Structure Doctrine’
for the first fime ©
{i) Golak Nath Case, 1967
(2} Privy Purse Case, 1970
(3)  Keshavanand Bhani Case, 1973
{(4)  Minerva Nl Case, 1980
PR T & wee s S RS (T e — fear 7
() e weey o7 (1) W v w1970
(3} dweri WEIT, 1973 4) et e g jogg
4% TFhe jerm of memders of Rajya Sabha js .
(I} 5 vears (2) 6.}'ears
{3) Upto the age of 02 years - (4)  Upto the age of 53 vears |
TREES G BCEl W wrhew % - |
(y 5= @) 6 ad
G ozl & wy v 4 65 ot @ ey we
3 Totad mumher of mermbers of Public Accounts Commitree o Parfiament
Is
(19 - 2) i3
3y I8 (4) 22
S W fwr oty P9 "o @ wew &
o @ is :
@ o | @ oz
S Pepugy Speaker of present Lok Sabha s -
(1) Charanjest singh Atwal {2} Manohar Josghi
£33 K. Rahmas Khan {4)  Kariya Munda
‘Tc%?rr FETH ¥ T -
V) wrrn iy weem (2} TR iR
(3 F wwy o < @ gy
0F_ A - 16 : | [Contd...
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Which state is represented by Dr. Man Mohan Singh in Rajya Sabha ?

'P\

52
(1) Assam , (2) Punjab
(3) Chandigarh (4) Jharkhand
ﬁ%%mﬁ%wmuﬁﬁm@m% 4
(1) 3m™H ' (2) duE
3) g OB S
53 Council of Ministers in the Union is responsible to —
(1) Plresident (2) Parliament _
(3) Rajya Sabha (4) Lok Sabha
W ¥ uffeg feed wR sawrd o b 2 | |
M) R F owR 2) "o F ufy
(B) e F wfy (4) < b iy
54 In the verdic; of which case in 1994, Supreme Court has established guiding
principles to use article 356 ? :
(1) Menaka Gandhi Case (2} S. R. Bommai Case
(3) Bela Mukherjee Case (4)  Francis Mullin Case
few gt (@) % Prfg &, weaew s Y 1994 & s gd® 356 %
T % anksis R el feg ¥ ?
() =1 el =g : (2) wE oR. g g9r
¢) ¥ gad W ) witre afr e
33 First woman Judge in the Supreme Court of India is — ;
(1) Fatima Beevi (2) Leela Seth }{
(3} Gyan Sudha Mishra {4) Sujata Manohar f
MG & TR e W s when e ¥
(1) it ) e ¥ I
() wgen s @) g T :'}l
01_A] 17 | [Contd... ; |
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Which state has Bi-camers! fegislature 7
(1) Gujarat {2)
(3) Tamil Nady {4)

o o § froveime B T 7

(1) o @
@) Ffmg )

K

. West Bengal
Byhar

uf¥em §re
IEFIEe

Chairman of Committes én Public Accouats in present Rajasthan Legislative

Assembly i —
(1) Kali Charan Sacaf £2)

{3)  Amara Ram (4

Gulab Chand Kataria

Param Navdeep Singhi

S H U Remeewy o wiasn wife & erwam ¥

(‘1)' HIATITY TG (2)
(3) o | ¢4

Maximum  allowed munber of members
Rajasthan is —

(1y 25 (2)
f3x 33 (4)
W 4 U & ween @ afie
@y 25 @)

A 35 -

4

R Aady R

af Counci!l of Ministers in

Ienify the defective pair regarding Governor and his present held staic

(V)  Jagannath Pahadia - Haryana
2)  ESL Nasimhan - Andhra Pradesh
(3} Margaret Alvg - ‘Himachal Pradesh

) K. Rosaivva - Tamil Nady

TN Gl S A seenfw TeT ¥ deiyg Feqw g &) g ift

(U Anssm uelem o el (2}

*

3) wmhe swm - foaew wiy (4)

¢ : 18

fuand. T sy




How many subjects are enlisted in the 110 Schedule of Conslitution for

o Panchayat Raj Institutions ?
(1) 29 | @) 30
(3) 35 4) 37
Hﬁamﬁllﬁmg@ﬁﬁmwmaﬁ%%qﬁmﬁﬁw
gdigg § 7
(1) 29 | 2) 30
(3) 35 4) 37
61  National Income in India is estimated by :
{1) Central Statistical Organization (2) Planning  Commission
(3) National Sample Survey (4)  Finance Ministiy of GOI
TR H T o H SR e o
(1) &= i doeq (2) AR e
(3) R ghwes wdee (4) W& WaR @ fra wes
62  Which of the following contributes highest in the country's GDP 7
(1) Primary Sector with agriculture
(_2)l Secondary Sector with industries
. (3)- Services Sector
(4) Primary and Seéondary Sector combined
Wb e SO F gaifte @ B ¥ ¥ feaw 7
1) P afed wafes am
(2) wEr ofed fudue @
(3) ¥ &x
@) waths g fEdas &5 Py g w9 9 _
£ 01_A) ' 19 [Contd...
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e peseatage. of population living below poverty line has been estimated  §

'55@ By e plenming commission for the year 2004-05 a¢ :
Yy 365 | () 300
() 275 _ 4 250
wwﬁwma&zmw%%&wﬂaaﬁmﬁﬁﬁﬂmaﬁa
FE W ST ¥ AR 5 ST I v oy
) S | (2} 300
By 275 (4) 250
@ The decade growth rate of population in India dusing 2001-2011 was )
¢y 1764 () 215
G .68 e 2 3.64
e § HRL-20EL & T N wrrwem @ o = @ -
2 I 2 215
3 1968 . 4) 23.64
8 The muin {Mm‘}z. i the rapid in(iustn'al devefopment of ,_ou? cﬁlmtry is:
€)) Lack of Caprsiak (2) Inadequate Infrastrucryre
£3)  Limited Morla (4) Lack of Strategy
FW e ¥ e warme
) 558 o o 2 vt amame wre
3y N ' @ I R
&t A} 20 [Contd...
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67

M_AJ

Which,.ene amang the following -is not an ObjeCHVG of food .Management

m India
(1} Procurenient of food grains
{(2)  Distribution of food grains

(3)  Export of food grains

(4) Maintena‘pce_ of food buf}“ers stock

mmﬁ@mwmﬁw ﬁﬂ?mqaia‘ésuﬂé’r% ?
(1) @m:a‘ra?r@ﬁa

) wEE e gy

0w o fie
(4) mﬁ%wm“mw?@?@m

In Indra, the share of agriculture in GDp has declined a1 5 very fast rate
it the recent years. This is due o ~ :

{1)  Lack of diversification of rural econony,
(2} Slow growth in the prices of agricultural commaodities,
{(3)  Saturation of employment Opportunities in the agriculture sector.

(4)  Very slow growth rate of agr:cufture and a fast rate of growth of
other sectors. :

:;‘ (‘ R

Wﬁmé‘r%aﬂwGf)Prfgw&rmrf%wagﬁ_avrvﬁr@rwgen
€| SHE By

() ol srefeamg fr'f%n%r&ﬁm W owH

BB G % smwd @ i Ref &t o |

(4) ?ﬁ%ﬁﬁ%ﬁ%ﬂiﬁaﬁg'ﬂaﬁm%ﬁﬁﬁgﬁ%qﬁgﬁw
R

23 [Contd...




68  The hteracy rats i India in cengys year 2011 wag -
(V) 7404 2) 6338
(3} 7144 (4}  64.83
TE S w g, ¥ ame @ T o
) 7404 . () 6538
3y 7144

&

Among the food arain CILPS, Wikich o

S8 of the fp ollowing provides maximuyy
Owput in the countiy 7
(1) Wheat (2) Coarse Cereals

£3)  Rice (%) Pulses

N Py oy g T @R s

SI
(3} EIEh

ok district hag the

bigheny
X1-2017 ?

BICwTH of Fepulation ip Rajasthan dunncr

{1y Jaisalmer .- t%}  Barnier
£ Jaipur

e
R

todhpur

ﬁﬁv}%ﬂ‘ﬁ % o frg ¥ FF 2001

(2} wredy

4 sty
4;;5 A

x._\-
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72

73

01_Aj

State to.p four states with highest population according to census 2011 :
(1) U.P, Maharashtra, Bihar and West Bengal

(2) U.P, Maharashtra, Andhra Pradesh and MP

(3) U.P, Bihar, Andhra Pradesh and Tamil Nadu

(4) UP, MP, Bihar and Andhra Pradesh

ST 2011 % STYER §aAifae SEEn 9 OR oW wawd -

(1) STRY, WRE, REr ok them @

(2) TUTRY, WO, SRy ST wemgdaT

(3) wwwey, fEwR, rewRe ok afreg

(4) waRy, weRY, RER o ammmder

In which district of the Rajasthan, the female literacy rate is minimum
as per census 2011 ?

(1) Barmer | ~ (2) Banswara

()  Sirohi | @) Jalore
szoll%mmwﬁmmﬁw%mmmﬁm
e

(1) =R (2) g

) fd | (4) W@

In which region of Rajasthan, Indira Gandh1 Nahar I’IOJect provide water

for irrigation and drinking purposes ?

(1} Eastern region (2) Western region
(3) Southern region ' {(4) Northern region

Wﬁﬁﬂﬂqﬁﬁw,w%%ﬁ-aﬁaﬁ,fﬁaﬁaﬂ?ﬁ%aﬂﬁ
WH %I 3¢

(1) T A @ @) wReh &3 @

(3) wu & @ (4) Tl o9 W
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¢ Lk
s o
Ry EiE)
A !
[ { } {i\ }
.y ! {4}
(o {1} (i” !
(=) (i )
TR
(1
¥
—cmrer — - S W
U [T
{1 T TR Ty
i
i
LAY
’.,I Y P

R

Match the following -

List Prageet

(A3 Fanwer Sain Lif

() Gendhel-Sihawa Lift PIOJBCI

{{. r! !‘\“':" ;l{'-"l "‘:t’fi::'ﬁ.u 1

Canal

Lift Canal

oy Gamer LI Projeet

: 3
iy oy (v
(F\! {“) EJ]‘
R ;ji;i
£y ,{-gj\

If"”‘x '-T-r-.‘r‘b'?r.l_“?i

(A HAVEY TR R

(B s e o

(i)
(iv)

)

.
(iii)
{iv)
(if)
(i)

(1)
(ii)
(iii)
(iv)
D
(i)
(iii)
(1

(iv)

(i)
{ii)
(iif)
{iv)
D
(1)
(iii)
(i}

(),

(2)
(4)

(2)

{4}

Supply drinking water to

Nagaur
Jodhpur
Churu

Bikaner

9 % arl o sy

gy

T H
SHMT By

Copper

Sitver

m@ﬁiﬁraﬂaﬁaﬁ%?

qar=gr

i

[Contd...

Ay

g
ST



E'-Lm" R,

76  The National Mustard Research Centre is located at
(1)  Nagaur (2) Alwar
(3)  Jaipur 4 Severe_'
T el SqEEe hw Rug ¥
(1) Ame o Q) uwET A
(3) gy & @) @ A
77 Match the following :
List - 1 List - II
Mineral Main production area in Rajasthan
(A} Felspar (1}  Sikar
(B) Flourite (i) Pali
(C) Calcite (i) Ajmer
(D} Wollastonite _(i_v) Banﬁer '
(v) Dungarpur
(A) (B) (€) (D)
(1) (iif) (v) (1) (ii)
2)  (iv) (1i1) (i) )
B) (i) (iv) (iii) v)
!; @ ™ 6D (iv) (i)
i o~ 1 T - I |
| afm wrE ¥ e v i
] (&) ey ()  dex |
} (B)  weirEe ) el
(C) Heame (ili) ST
(D) =vwEEs (iv) =ux
(v) Mg
(A) (B) <) (D).
(1) (iib) (V) M (ii)
2) (iv) (ii1) (ii) (i)
(3} (i) (iv) (iii) (v)
“4) (v (i) (iv) (i)
01_A| 25 : {Contd...




T DRolpur Power Project is basad op

..'-.,.'-;«'m.ua.amﬁu.“:.._L.'.-.-.=_ AR s e RV SR
78 UN Report an Human Devetopmens Index (HDI} assegges long term
- Progress in differens indicators. These indicators are . . '
(1) Poverty and unemployment
(2) Health, Education and’ Income
(3)  Persons of SC and ST

{(4) National Income and Per capra Income

Wi%mwﬁﬁwﬁ;ﬁ"mgzm%ﬁrﬁmwffﬂéw

W’?r%maﬁ*rma-amrrg VY o g
(1) ey e T

(2) wmem, s si g

S SOl I p—— 5wl
9 L TR

1

(1) Lignite (2} Gas
(3)  Naptha ‘ (%4} Diesel

HEGT Y Torer T ¥
(1Y e oy @y g w
(3} ey g ) Fmw oy

> o)

3% . Which cire of the following pairs iz peg correctly matched

1) Bhim Sagar Project - Jhalawad

2 Parwan Lift Project . Barg : SR ¢
L Sawan-Bhado Project - Kota
4y Dhaii Irigation Project - Bund;
?%?ﬁ*:%ﬁ%ﬁ“@*&ﬁw-fmqa?ﬁﬁﬂ“ﬁtrﬁ@w% ?
0 Smer e AT
(2] 9 Ry TN - g
(3} wrery- gy TET - gy
U 4 26 _ 1Contd..,
- il
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81  The specially designed computers used in large organizations to perform
very complex calculations extremely rapidly are called as :

- (1) Desktop (2) Mainframe Computers
(3) Mini computer ' (4) Laptop

o T @ wga s e we % e B0 ww ¥ R dom
(W)Wﬁlwﬁﬁmﬁﬁmw%ﬁmw%;
(1) e : (2) AT (AT )

Q) Bl g (R wE) @) dwe |

82  Which of the following devices stores instruction those help the computers

start up ?
(1) Monitor
{(2) Mouse

(3) Read Only Memory (ROM)
(4) Random Access Memory (RAM)

 Prefafes ¥ @ B & g mrel (PR 9wt ad B o g
(F0) @ & 8 F weg w7 € 7

(1) #AFRT (Monitor)

(2) =g (Mouse)

3) V= el W @ e o )
() Yo wHEw AAE (o e g o)

83 What type of device is a computer monitor ?

(1) Input

(3} Storage

(1) foree
3} dugm

01_A}

(2)
&)

(2)
4

27

__ww-—-_.
B .

Output

'Soﬁware

wﬁw(m)ﬁammaﬁgﬁﬁ%?

frfm

' Y

TWIFeTTT
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§4¢ The teon Pestum i3 related to what ?
£v3  Mouwse - {2) Duenal video bhsc (DVD)
{3 hhcroprocessor {4y Software
wer wheum Teww Al g f
{1y (2y Rfaww kT s EdE

(3) TR @) wirER

85 Choost comect set of inpwt devices .
{3y  Keyhoard, mouse, scanner, joystick
{2

(¥ Kewboard, scamer joystick, monior

S

Keyboard, printer, scanner, dignal camera

-

{4}  Prmter, joystick, mouse, scanner

Fae gwg Gy Remw) =88 o (&) g¥
¢hy w9, TR W Wik |

2) e, Frer, e Rfvee uu

(3r RS, WY, Wikem, AT

LY

@y Py, wifem, wE, S

856 - Which ane 15 o prmary memory ?
{1} Ramdom Accsss Memory (RAM) )
{7y Compagt Dec (D) ' ‘

{3) Digital Viger Dizc (DVD)

(4} Hard Disk

() Yew weew wFh (M oam T om)
() wrdwe fmn G

(3).. R @ fom (@99

4 wE s

81 A} 28 _ [Contd...
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87 Which cannot ‘act as both input and output devices ?
(1)  Touch screen (2) Modems

(3) Network Interface Card (4) Mouse

'ﬁ?ﬁiﬂﬁfﬁ%ﬂ@?ﬁﬂhﬁﬁ@ﬂ@)%@ﬁﬁﬂﬁmm?

(1) =g wm\ ' (2) TRy
. (3) ieTd fEHY TR 4) ="
88  Octal equivalent of decimal number 100 is :
(1 128 | @) 144
(3) 154 (4) 180
asmaaﬁwlloo%wmﬁ’rm%:
fii, (1) 128 o ) 144.

(3) 154 (4) 180

8%  Binary addition of 1010 and 1011 is equal to
(1) 10101011 ' () 10111010

(3) 00010101 (4) 10101000

TEAY @@ 1010 3K 1011 @1 9 % sqax & o
(1) 10101011 (2) 10111010

(3) 0001010] (4) 10101000

01_A] 29 [Contd...
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98  Choose correct senience for Internet Corporation for Assigned Names and

Numbers (ICANN) -

{}) ICANN controls content e the Internet.

(2} ICANN can StOp spasm.

(3} ICANN is a huge profit making company.

49 ICANN coordinates Domatn Name System (DNS).

Freve Pl i o F P (Enternet €orporation for Assigned Names.
#ad Numbers) (seddhmrss ¥ o amy g o

(1) IRHCTT $oe T st P gy ]

& olieeT @ 9e wwam 3 |
(3}.@@@@@@6@@%%@%%%@%

gﬁ).méﬁqqm@ﬁamwm(é?mm)%wwm
IS |

¥l VWhat does FTP stands for ? _
{}3  File Transfer Protaces (2} File Transfer Program
{3} file Threat Protocol £4)  File Tracking Police
CESN By ww ¥ wy ong # 7
0y WA SR (Zrawe) Wioim
L2 ERA W (Fawy ek
B wRE v (@2) vide
YE Web browser are used -
(1} 1o create ‘web pages {2y to view web pages |
3 te Tename wep pages _ t4)  to delete web pages
4 weEy @y O 33 .
() & IR W b B 9= o @t ¥ f
SO TR W e B w3y ISl B gy 3 g
S | | ey | [Contd...
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93  Which of these is a correct form of Email address ?
(1} raja@home@hungama.com (2) ramesh@gmail.com
(3) husain.1234&yahoo.com (4)  (@june@gmaili@com.
T A Q BA-U A T B U WE B OE 7
(1Y raja@home@hungama.com 12)  ramesh@gmail com
(3) husain.1234&yahov.com 4y wjune@gmail@com.
94  Which type of program would you use for search for hotels for an upcoming
’ “business trip ?
(1) ‘Java (2} Search engine
(3) Virus . {4) C.ookie
@mﬁmww%méaﬁ%m@m%-mﬁﬁamm
W A W & 7 |
(1) s (2) @ g
(3) aEE 4) gl
95  is a collection of many separaie networks.
(1)  WAN | (2)  MAN
(3} LAN_ (4y  Internet
_______ B FET TeAd B UF GUE B
() & (WAN) @) ®1 (MAN) -
(3) = (LAN) (4)  gexe (Internet)
96 In Rajasthan Steel Grade !hnestoie be ooad ni
(1} Chittorgarh District 1) Nawai Madhopur District
(3)  Alwar District (41 laisalmer—Nagaur district
o § Wia 0% g e aE @
(1) Tadlgne e # ) qag muigr fw A
(3) et el | ' (41 Jdaagy arie e oo
LAl ;
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Which one of the foltowing

Freafifian
{ ] ) T = L

Rajasthary Keeps

;\-‘“-.ta:f BIEeRe

Wltich cne of the

(1 Sieohj

Wollasiomite

WrEE

7= e and Lead ors

(2)
(4

(2)

(4)

1S 1Ot correct ?

Banswara -

Bundi - Garnet -

qHAST - A

E U 15

¢ monopoly in the production of :

toliowing is kn

T TS W S we e EA

of Rajasthan Sahar

" - Chittorgarh

e

L
[N

(2) Mica

4
U USHERTT T 3

Felspar

HyE &

(4) R %

own as 'Granite city' of &

()
(4}

(2)

.

Udaipur

Jadhpur

) sty

2)
(4)

(2)

4)

@ irihe is concenirated

Dungarpur -

Baron

WA wafe ey s & o

I -
i

Mangenese

Banswara

Siaars

ajasthan 2

e

AT

e ST e

SR

bi

T oned, .
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101 District having highest decadal population growth in Rajasthan during

102

103

104

2000-00 1

(hy  farsahoer (Z)  Jodhpur

{3)  Barmer (4)  Jaipur

200111 % ane % Gus Gman w gafeg s gl aren fomm ¥
(1) Frewdt (2)  siEgR

(3) ==y (4)  StgT

Mathania Solar Energy project Is situated in

(1) Jaisalier  District (2)  Jodhpur District
{(3)  MNagawr District ) . {4) Bikaner District

YItEn @1 e e R %
(1) <wey fya F (2) wiugr R A
(3) 9riic tas 9 ) dry B o

Wihich one of the fellovang joms Mumbai with Pune ¥
(i) Bhor Ghar ' {(2)  Goren Ghat

{3)  Thal Ghat ‘ (4) Pal Ghat

FAE B T A oM @ o Prenda &7

(1) v e (2) h e
3) ww sie N AL

Most of the Khast tribat population is concentrated in

{1)  Nagaland (2)  Mizoram
(3} Meghalaya (4} Tripura.

Gl b wed L enid o ORI

(1) Hrieve § | (2y e ¥
(3) Yumm § (4y B ¥

01_Aj 33 ' [Contd...




5 Which one of the foltowing crops v India covers highest cuitivated land 7

(1} Wheat 2)  Rice
(3) Bajra () Jowar
w%ﬁwﬁéﬁa——ﬁrww%mﬁﬁawﬁmw%ﬂ% ?
(h ¥ % | (2)  WEw %

(), Twr FH 4) R %

¥ Which cme. of the iollowing pagrs is not correctly matched ?
{n Mayurbhong - Dirissa {2) Chickmangularir - Kamataka
(3)  Singhbhum - iy (4) Bailadala - Chhattisgarh
Predfefen 4 3 Sear w T4 w6 gl w& 3

(1) =geds - kg (2) ReprmeRr - .aﬁh—as
() M - fer ) I - ol

37 Which one of the following states of India is a leading producer of
Manganese ?

(1) Madhya Pradesh 2} QOrissa
(3}  Karnataka ) Rajasthan

wﬁa%ﬁ?n%f@avﬁfﬁ%ﬁmww'mﬁn%mmww
LR

{1 Fwg yig ' (2) g
B) iy oo @) e -

08 In Indiz which area 1s having largest coal deposity 2

{1} Damodar rver valley 2} Mahanad; river valiey
53)  Godavar river valley (4} San tiver valley
T T i e 3 S E 6T BhToar 3 p
) =¥z =8 g (1) wEEd g
() wemEd wd g i W 98wy
1 A} 34 ‘ {Contd... i
Qg TR
= 4‘? A



109 Highest percentage of net sown area is found in -
(I} Punjab - Haryana
(2)  Uttar Pradesh - Madhya Pradesh
{3) Bihar - Jharkhand
(4) West Bengal - Chhattisgarh
gF A U & H geife ufem ¥
(1) wong - wR@wn o (2) OO USN - HET yIYO A
G) RER  wmEw ¥ (4) wherll Tmw - sdwie ¥

11 Asrange the following states of India in respect to coffee production in
a descending order and select the correct answer on the basis of code given

below
(iy  Tamil Nadu (i) Kerala
(111)  Andhra Pradesh ' (iv) Karnataka
’ Code :
- () G (i1}, (i), (iv})
@- G @ . (iv)
| Gy G Gv, G G
4) (i), (1}, (h, (i)

%ﬁﬁr{f@ﬁﬁ%ﬂﬂfﬁmw&mwgﬁzﬁmﬁmﬁaﬁaﬁ
W@aﬁmmwﬁﬁvwﬁ%aﬂwwa&m

s S ——

| i wbwemg (i) e
(i) vy wie S
W G @ G )
0 () G, G, (0. (i)
3y G, (iv) i, 60
4 (v (i), ), (i)
Bt A 35 [Contd...
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35y MNatonat Cilseeds Development Project was started in
{1y 1EES-80 {2y 1988-89
(3 1H3BE (4) 1990-91

weia Towes fewg uidwm oMy @ T o1

Rtif]
-

(1) 1985-86 (2) 1988-89 %

(33 198788 () 1990-91 ¥

12 Which civ i3 known as "Manchester of South Indig" ?
{1y Cheneal (2} Coumbatore

{3 Madura (4}  Salem

G ATE W MR W T HeAd) § 7
1y =i (2) wE=ELT
3y wgE ) wew

W3 Which ame of the fbllowing was a major commodity of export from India
W 1ags a0

{1y Enwmesring woods (2) Gems and jewelfary
3 Perrcdsum produdts (4} Tea and cotfee

& 1enn 0 9 g w P d o we W gen tafa o asg A 7

0 el Ty (2) T WG -HER

e e " (4) @ U wE

14 Which ane of the tollowing states in India is having highest area under
musierd culiivailon 7

(1) Guijera (2) Rajasthan
{3y Madhva Pradesh (4} Uttar Pradesh
Mewiar ¥ 8 w91 @ 0w 0w /e W gy ¥ weihum 8w waar ¥ 0

(1) T W (2) TERgE H

(33 wug way ¥ (4) 3 WY |

a1 A 36 {Contd...
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115 Which part of Mig Atlantic Ridge is known as challenger rise ?

(1) Northern part (2) Middle pan
(3)  Southern part (4)  North-Western part
fhgaﬁﬁﬁ%mﬁafmaﬂmmmw%ﬁ?ﬂm%wﬁmw%?
(1) sad (2) me s

{(3) =l O 4) sEld-ufdyely wm

116 Longest mountain chain of the world is -

(1) Himalayas (2) Rockies
(3)  Andeses (4)  Ural

fasT @ T wd v sy

(1 Tearrm 2) Ve

(3) U= 4) . gu

17 Which one of the following has Jowest variability of rainfall 7

(1) Malabar Coast S (2)  Coromondal Coast
(3)  Konkan Coast (4)  Chhattisgarh Plain
ﬁmﬁﬁ@aﬁ‘:ﬁw-%wﬁaﬁaﬁw%ﬂm% P

() wamy gz oy (2) #9vza ae uv

(3) ®@T we 7 (4) -wEmE e

M18  Which one of (he following rivers crosses cquator twice ?

(1) White Nile (2)  Congo (Zaire)
(3)  Amazon (4) Niger
%ﬁ%%ﬁwﬁ%ﬁmﬁammwm?
() 37 P 2) @ @Y
(3y  awur (4) e

01_A] 37 [Conid...
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119 Bengula current flows zlong
(1) South-West Coast of Africa
(2) Eest Coast of South America
(3} Scuth-West Coast of South America
{4y South-East Coast of Affica
Segw ey yorsd ek ¥
(1) omim & shr-ayd g F @I

(2) wid emiE & Ud @z & wen

%y s w A gl o & owEn

(2) Tl omfim ¥ cleli—ofed @z %

126 Which one of the following is known as Humboralt current ?

{¥y  California current {2}
(37 Brazi) current (41

Ttaiad W o§ ae-dl e sme W &

() EEEET (2

1A%
Lhy o Tarth Avantic ocean {2}
{21 Test Indian ocean {4}

- gy 2B, -

QL AR ' 38

- SR
fpenr ) - -
Gkt Sty
i DM s e s o T L e L LT

Pema current
Folklend current
o A T 7

WigheilE 71

South Atlantic ocean

South Pacific ocean

e arwifs TEEER A
=l gy wmETY

[Contdl.,,
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122 In the Koppen's classification 'A' stands for -

(1) Tropical Climate (2) Arid Climate

B H Fw F A ggtar ¥ o
(1) o s Ty 2) Y FTEEy

123 Which. one of the following is not correct ?
o

(1) Bwh - Hot Law latitude desert

(2) Bwk - Cold Mid latitude desert

(3) Bsh - Hot Law latitude steppe
(4) Bsk - Tropical areas

Frafafes & @ o9 ws w& & 3 2
(1) Bwh - 391 =1 sr@ishy aeem
A"(_z) Bwk - 3% mex HETT AETH
(3) Bsh - s P sish éﬁr'
(4) Bk - Iw1 @i o

124 The southern most ranges in India are known as

(1) Javadi hills 2) Nilgiri hills

(3)  Annamalai hilis | (4) Cardamom hills

SICIEAIE LR G, Qe g S

(1) e werfsa | (2) Ay e

() s wET (4) e et
01 Al 39

(3) Polar Climate (4) Mediterranean Climate

(3) gdw wwEr ' (4) A9 9 Sy

[Contd...
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123 Which one of the following IS not sit

€h)
(3}

et § & @row oum mae e
¢y

&

24

)

Minnezpolis

Chicago

Resan

Chlerophyll belos in -

Raapivation

Exeretion

iR SEe e &

3]

Gy

127

2

@

"__- i ey
s Tewr &

T Y

; ‘ L Y, -
Photosyisheowy,
Fospiration and Fyeretion
T e e

kit -‘.;.ij AT

Respiration and Photo synihesis

. -
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40

Fhe bielegical wmrocess which releases 0,

vated along the coast of Great lakes?

(2} Detroit

{4 C‘leéveland

§¢ & e T T 7
(2) =33

i,

()  FAEAYS

(1)  Photosynthesis

(4}  Both (1) and (2)

(2} 9wyl dewwe N

(4) A (1) @ () §

WS ew Peed O, g B ERR

-

(2) 9987 dov Imwe

(1 SHET quY udms @Ry
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129 The canse of iritation produced” by chillies s -
(1) Lycopene ‘ (2} Vitamin-C
(3)  Capscicin (4)  Pheophyrin
Bl @ s wwr @ o b
(1)  wmEde (2) fyafm-
(3) it (4)  TrivEie
130 Chemically, "Milk of Magnesia” is
() MeO @) MgH,
(3} Mgl (4)  MgOH
TS =7 4 ey o Afafmy gar ¥
(1) MgO : (2} MgH,
(3)  Mg(Oi; (4)  MeOn
131 Acid is a.-
(1) Proton (H's donor () Proton (H* acceptor
{3) Both (1) and () (4}  None
O gar %
(1) WST (F1H) gy (2) & o
(G) (D) 2y Sy (4)  BHF T8
01_A} 41

128 1n hvpermetropia, distinet image of the object forms -

(1) bchind the retina
(2} in fromt of retina
3) no image is formed
{4)  depends upon the age of the person
(D w15 I % 9 i
() wakms =8 awar 2

) ™ WT F gy @y
(4) =l B oow o7 Py s
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13X Owme gram of far provides how much energy ? _
(k) 4 kitocalorie : {2) 6 kitocalorie
(3y 9 kilocalorie ' (%) 2725 kilocalorie

W OWE G et @m WG B 57

{iy 4 kBocalorne (2) & kilocalorie
{3) 9 kilocalorie 4y 2.25 kilocalorie

B3 Wlkieh food has omaximum biofogicdd value for proteins 7

(EY Soyabean {2y Egg )
G} Meat * (4) Fish
Wam o e § few ot e IR WM weite dar &7
C (1) HmEm (2) g
R o ' (4) wHR
E3& How many mEtoss are required in the formation of 64 cells ?
“{¥r 8 2y 16
3y 32 4y 65
64 i ¥ S § ey ool Reamm @ evavaw S 2
{1y 8 ) 16
(3 32 ' (4) 63
" Y35 Following are grepa howse gases @ . : .
) €O, N0 CFC 2) SO, CO, NO, i
{3} Ethane, Methage, Butzne {4) Neon, Argon, Crypton -
et & s g Gw % t
(1) €Oy, N;O. CFC - (2} S0, CO, NO, ;
{3) 99, WA, wpa @y are, fre :
B1_A} | 42 [Contd... ,
- e : " e e



4 136

One molecule of CFC by chain reaction destroy how much molecules of
Ozone ?

(1) Only one (2) About one iakh
(3) About ten lakh (4) About one crore

Cchmaﬂﬂi@mmﬁamﬁﬁ%aﬁéﬁﬁaﬂeﬁﬁwm
amdl & 7

(1) HIa @ 2) whe ws @@
(3) HU9 @ WY (4) e @ B0

137 Rickets in children and ostéoporosis in adults is caused by :
{1) Excess of Vitamin - D (2) Deficiency of Vitamin - C
(3) Deficiency of Vitamin - D (4). Excess of Vitamin - A
Tedl § gar M am wwes § oifednif B oo o
(1) frefm - D 1 srfepa ) FrfE - C & &
(3) W-Da&zﬁﬁ’r | (4) Tl - A & fesar
1138 The cause of liquid nature of water is :
(1) Tonic bond | (2) Hydrogen bond
(3) Disulplide bond (4) Covalent bond
W @ ae TR @ w E
(1) omtm ¥4 . ) wEEE T
¢) wmwewE e - (4) weee w
1139 Lactose is made up of :
| (1) Glucose + Fructose (2) Glucose + Glucose
(3) Glucose + Galactose {4) Fructose + Fructose
e o A 3, ¥
BERORE GRS @) A+ g
L@ e () g + g
_'_EﬁirA) 43 ' [Contd...
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Buming of pure carbuy yietds CO,. This process IS

(1) Cridation (2) Reduction

3y Both (¥} and {2} (4) None
s mw % wEe ¥ CO, WW BT ¥ 1 9w e ® oo
(1) eRmEeT (2) @uEga (gaeF)

L

Gy AR (1) wE L) (4) & 8

The struchuad and fmctional amt of kidney. is .

{t) Urcter (2) Renal tubule
(3)  Wemary blader {4) Urino-genital tubule

s Wy drEmewy A e TR ¥

vy = () gFm e

T (4) HF-TTT A

The chief toetsbolic orgen of human body is :
(1) Kideey | (2) Lung
3y Stownach {4y Liver
e Wi W wRE Imeeny o ¥

{¥y T (2) TR
Gy (4) P

Part of eye wiich can bw transplased

(ry Mot .. {2) Comea N
33 @gem Horss (4) Compiete eye

S WA Y TRk oomthEnw T ogsmd ¥ o
(v e (2) it
(3y T S () T A @

BRI

P o o .
e . - - gy Bogicid

M L m

1L,
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(1)

(3}

(1)

b4d . The name of Darwin's ship was :

Beagle (2)

Vikrant (4)
SfifT % wE @ A e o

LG (@)

am : (4)

(3)

B 145 The Rajasthan state animal is :
: {1 hger {(2)
1 (3)  Peacock {4)
| TSRM ST T WEn §
(hy =@ - (2)
(3) AR ' )
. 146 The breathing rate in human beings is :
| (1) 36 per minute (2)
(3) 72 per minute = (4}
Tl W gEeT A R
'E (1 36 ufq fiFe (2)
E ) 72 g Fz (4
E
o 147 Insulin hormone is secreted by
g ‘ (1) -Alpha cell_s of péncrea's.
! {2}  Beta cells of pituitary
: {31 Beta cells of islets of langerhans
i (4 Delta cells
1 s B @ @ w ¥
4 (1)) SNT B ITH BT
A L2y Pign B drer wifesnd
L) Ak B Rl # A wie
* (1 Feer wfyr
U o1 A 45

Finch
Galapagos

g
FeE

Chinkara

Camel

Fememra

[x7ra

10 to 12 per

minute

17 to 19 per minute

10§ 12 % fme
17 9 19 gfa e

il
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148 Two or more similar atams comine 1o for_m a4
(1) Molecule {2} Compound
{3} Element (4 Sak
U et we KRG - R gt
(y ey @) e

3y @m 4)  wEm

49 Amla ang green chally are the source of X

() Vitamsn - O 2 Veamin - D
(3} Vmamin - £ (4 Viamin - A
e fa.n . W E
A W ozd e P & R E 7
. F=— -
1y tElm - o (2) feiim D
TRV B . . :
{3y Tmfhy . op (4} Tz - A
L3 beings is - a
{8 Plioesd Body {2} TFhymus
{3 Thyrsid ¢4 Hvpothelamms ' -
- - - ’ 5
- PR L LS J [ PN U
R 3 e CT:"} ERAETET B :
]
{3} ERH (2} uEmg :
. ) e - . ;
(37 iz 4}  FETMLRng
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